k2 8FE HhiEEEBuUxEREs FERATIYa—-)U
4 A 5A 6 A 7R 8 A 9 A 108 118 12H 1A 2R 3 A
B B 27 (£) 13:30~ 30 (£) 13:30~ 17 (£) 13:30~
i
1 1B 7R TR Rt =£E Rt =EE
# W1 KREE 5 PEE 3 HHE = 5 BEE 3 HHE =
W?é-'\‘ FF'TJJIJn?"zZS FﬁTiJ}Jn?tK FﬁTZ‘UJn?JzK
REs |~ D
X
- Q%E:§3¥ HPM QQE:§3§EEAM gﬁ%:%%ﬁ%EPM OfiR : £4 KEEHPM
5 | %7 || © . E2/)KEEHPM OftRX: %3 HPM O=RX: %3 XKiEH
=1 T Y,
A&
HE | 270Kk)14:00~ 22 (7K) 14:00~ 27 (7k) 14:00~ 28 (7K) 14:00~ 26 (7K) 14:00~ 30 (k) 14:00~ 28 (k) 14:00~ 25 (7K) 14:00~ 22 (7k) 14:00~ 22 (5K) 14:00~
f&
BT oo Rt =EE Rt =£E Rt =8 fRit =EE o Rt =EE Rt =EE Rt =EE Rt =EE Rt =EE
%g il 27;3”'%5 SRS 1 HHERE 5 M5 2 HHSE 5 BEEE zﬁﬁﬂ"g FhERERE > 5|F"""3E):Hl“gs 5 W5 ﬁﬁ{r’tg SRE2HMEE | GRESHEEA | S5HE ZZ;JHP‘_.E_
&
NE | EEAEEN= EELEENE EELEENE EEL4EENE | FELAFEXNE | BEELAFENR FEELEENE EELEENE EELEENR FEELEENE
" B B 22 (&) 13:30~ 28 (&) 13:30~ 16 (£) 13:30~
15
A& T Rt =88 Bt =EE fRtit =g
%§ 55 2 HE= S5 SHHE=EA 5% 2 HE=E
2
S g A TE X RS Hhigi £ JE IR ER = g A TE X R
HEF | 22 (&) 10:00~ 26 (£) 10:00~ 27 (£) 10:00~
B
= Y $Qﬁ fRit =g fRit =EE
= 6 =E=EB 5% 2 HE= 5% 2 HE=E
-
SES EERE EERE EERE
HEF | 15 (£) 10:30~ | 20 (£) 10:30~ | 17 (£) 10:30~ | 8 (£) 10:30~ | 19 (£) 10:30~ | 16 (£) 10:30~ | 21 (£) 10:30~ | 18 (£) 10:30~ | 9 (£) 10:30~ | 20 (£) 10:30~ | 10 (£) 10:30~ | 17 (£) 10:30~
s
g 12 7R $?ﬁ L3zl hiki:2zil hiks:3zil ik L3zl Liki:2zil $?ﬁ L2zl hiki:2zil L2zl ik
& 70 REEA 8 EERE 70 2EEA 70 RE 70 REEA 70 2EEA 70 REEA 70 REEA 70 REEA 70 2EEA 70 REEA 70 REEA
%
S EHREE EHREE ESEISEE EHREE E ¥ Sk EHREE EHRRE EHREE EHREE EHRRE E$ L ISES EHREE




